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QUESTION 1

Which two tasks does the Dynamic Host Configuration Protocol perform? (Choose two.) 

A. Set the IP gateway to be used by the network. 

B. Perform host discovery used DHCPDISCOVER message. 

C. Configure IP address parameters from DHCP server to a host. 

D. Provide an easy management of layer 3 devices. 

E. Monitor IP performance using the DHCP server. 

F. Assign and renew IP address from the default pool. 

Correct Answer: CF 

The Dynamic Host Configuration Protocol (DHCP) is a network protocol used to configure devices that are connected to
a network (known as hosts) so they can communicate on that network using the Internet Protocol (IP). It involves clients
and a server operating in a client-server model. DHCP servers assigns IP addresses from a pool of addresses and also
assigns other parameters such as DNS and default gateways to hosts. 

 

QUESTION 2

Refer to the exhibit. 

A network associate has configured OSPF with the command: 

City(config-router)# network 192.168.12.64 0.0.0.63 area 0 

After completing the configuration, the associate discovers that not all the interfaces are participating in OSPF. Which
three of the interfaces shown in the exhibit will participate in OSPF according to this configuration statement? (Choose
three.) 

A. FastEthernet0 /0 

Latest 200-120 Dumps | 200-120 Practice Test | 200-120 Exam Questions                                2 / 6

https://www.pass4itsure.com/200-120.html
https://www.pass4itsure.com/200-120.html
https://www.pass4itsure.com/200-120.html


https://www.pass4itsure.com/200-120.html
2022 Latest pass4itsure 200-120 PDF and VCE dumps Download

B. FastEthernet0 /1 

C. Serial0/0 

D. Serial0/1.102 

E. Serial0/1.103 

F. Serial0/1.104 

Correct Answer: BCD 

The "network 192.168.12.64 0.0.0.63 equals to network 192.168.12.64/26. This network has: 

+

 Increment: 64 (/26= 1111 1111.1111 1111.1111 1111.1100 0000) 

+

 Network address: 192.168.12.64 

+

 Broadcast address: 192.168.12.127 

Therefore all interfaces in the range of this network will join OSPF. 

 

QUESTION 3

What are three approaches that are used when migrating from an IPv4 addressing scheme to an IPv6 scheme. (Choose
three.) 

A. enable dual-stack routing 

B. configure IPv6 directly 

C. configure IPv4 tunnels between IPv6 islands 

D. use proxying and translation to translate IPv6 packets into IPv4 packets 

E. statically map IPv4 addresses to IPv6 addresses 

F. use DHCPv6 to map IPv4 addresses to IPv6 addresses 

Correct Answer: ACD 

Several methods are used terms of migration including tunneling, translators, and dual stack. Tunnels are used to carry
one protocol inside another, while translators simply translate IPv6 packets into IPv4 packets. Dual stack uses a
combination of both native IPv4 and IPv6. With dual stack, devices are able to run IPv4 and IPv6 together and if IPv6
communication is possible that is the preferred protocol. Hosts can simultaneously reach IPv4 and IPv6 content. 

 

QUESTION 4
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The network administrator is asked to configure 113 point-to-point links. Which IP addressing scheme defines the
address range and subnet mask that meet the requirement and waste the fewest subnet and host addresses? 

A. 10.10.0.0/16 subnetted with mask 255.255.255.252 

B. 10.10.0.0/18 subnetted with mask 255.255.255.252 

C. 10.10.1.0/24 subnetted with mask 255.255.255.252 

D. 10.10.0.0/23 subnetted with mask 255.255.255.252 

E. 10.10.1.0/25 subnetted with mask 255.255.255.252 

Correct Answer: D 

We need 113 point-to-point links which equal to 113 sub-networks 

The network used for point-to-point connection should be /30. 

So our initial network should be 30 ?7 = 23. 

So 10.10.0.0/23 is the correct answer. 

You can understand it more clearly when writing it in binary form: 

/23 = 1111 1111.1111 1110.0000 0000 

/30 = 1111 1111.1111 1111.1111 1100 (borrow 7 bits) 

 

QUESTION 5

Refer to Exhibit: 

How many broadcast domains are shown in the graphic assuming only the default VLAN is configured on the switches? 

A. one 

B. two 

C. six 
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D. twelve 

Correct Answer: A 

Only router can break up broadcast domains but in this exhibit no router is used so there is only 1 broadcast domain. 

For your information, there are 7 collision domains in this exhibit (6 collision domains between hubs and switches + 1
collision between the two switches). 
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